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IE4 TEERT TEHME iy
BRKEMREILE tEEHE=TH $100 L= 290 m 65
AXERIOTAEAth $300 L= 170 m 6A
FAHT $350 L= 270 m 1R
XEZTH $300 L= 30 m 7H
EEZTH $250 L= 350 m 7H
RE_TE $150 L= 230 m 9R
KEFRHET $100 L= 190 m 108
BEROTH $150 L= 580 m 1A
HEI=TH $150 L= 180 m 11H
& B HET $150 L= 200 m 12R
[ BT 31| 5z $300 L= 300 m 12R
BRZTHRt(ZEDT) $100 L= 360 m 1H
ARZTERM(ZD2) $150 L= 300 m 1H
JeHT $150 L= 135 m 1H
RKEMHZISE KFIRR $250 L= 350m 1R
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IS4 TEE ITEHE BI¥EAR
EKEMRLE REZTH $700 L= 70 m 104
EKEMRELE = H Tt $200 L= 260m 5A

AE—TH $200 L= 460m 6 A
RETZT Btk $150 L= 220 m 68
ks E=TH $100 L= 280 m 7H
FEHET—TB $100 L= 230 m 78
BTN T H $300 L= 190 m 7H
BEBE=T B $100 L= 226m 8 A
HE=TH $100 L= 250 m 8H
REZ-TH $150 L= 200 m 8AH
mE—TH $100 L= 230 m 9A
FH=TH $100 L= 300 m 9AR
RET—TH $200 L= 310 m 9R
ZR-THE $700 L= 400 m 10A
ART=TH $100 L=  210m 1A
TEEMTHE $100 L= 260 m 118
FeE—TEfth $100 L=  355m 128
ZH_-THE $250 L= 350 m 128
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IS4 TEE IEME BI¥EAR
EKEMRLE HE-THE# ¢ 1000 L= 200 m 7H
WMER=TH $500 L= 500 m 7H
BRKEMREILE BER—TH((ZD1) $150 L= 126 m 5H
EA=TH $200 L= 340 m 68
BMARRET=THE $200 L= 245 m 7H
HNFHET=TAH $150 L= 100 m 7H
tHEMTE $100 L= 420 m 1R
EEm_TH $100 L= 183 m 8A
IWFE—TH $250 L= 320 m 9A
RF/NFxdth $250 L= 230 m 10A8
TEAZTH $200 L= 140 m 108
WEH_TH $75 L= 195 m 10A8
KH—TH $100 L= 95 m 11H
AEHET—TB $150 L= 180 m 18
BKEMRLIE ARFERE $200 L= 450 m 7H
ERFET=TAH $600 L= 40 m 9AR
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IS4 TEEf TEHME BI¥EAR
BKEMRLISE RFLRH $150 L= 200 m 5A
BEKEMSXEISE JRET $100 L= 150 m 5A
KHAFHT $150 L= 110 m 6A
TIRET $100 L= 360 m 8AH
BSEBE-TE $500 L= 400 m 11H
BIL=TH $150 L= 370m 128
R AHET $400 L= 160 m 18
FW=TH ﬁ?go L= 450 m 2R
??;;é; RELE Z8—TH $800 L= 400 m 6 A
EHT—TH $800 L= 320 m 68
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(J\IBERX)
IE4 TEERT TEHME BI¥EAR
EKEMRLE 78 AL LT $300 L= 80 m 9A
EKEMRELE kBT $150 L= 200 m 5A
FRZTH $400 L= 430 m 68
BAZTE $300 L= 400 m 6A
FH—TH $300 L=  340m 78
X&ZTH $400 L= 300 m 8H
R EHT $100 L= 150 m 8A
HE=TH $100 L= 220 m 108
BAEZ—TH $150 L= 380m 18
?%Eﬁﬁ%l% HE=TH $700 L=  170m 18
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IS4 TEE TEHME iy
EKEMRELE MERZTH $500 L= 400 m 7H
MXR—TBHE $500 L= 170 m 118
BRKEMREILE hORE-TH $75 L= 390m 5A
EETE $100 L= 180m 68
FOR=TH $100 L= 390 m 6A
AT H $200 L= 580 m 68
ZEDRE—TH $300 L= 300 m 6A
ZIZTH $150 L= 30 m 1R
EHILE=TH $150 L= 170 m 78
AE®E—TH $100 L= 120 m 8A
WELEA—TH $100 L= 150 m 8A
ZRI=TH $75 L= 100 m 8H
Ax—TH $200 L= 300 m 8A
ZFN=TH $100 L= 370 m 9A
ML) $150 L= 300 m 9A
tLEEE—-TH $100 L= 270 m 9A
NEMTHE $150 L= 280 m 108
EAPR—-TH $100 L= 150 m 10A
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(J\I1BFEX2/2)
IS4 TEE TEHME iy
BRKEMREILE MEAZTH $350 L= 300 m 1A
EE=TH $100 L=  370m 118
WIi=TH $100 L= 350 m 1A
fnik—TH $100 L= 120 m 1A
FW=THE $100 L= 180 m 128
ZFIN=TH $100 L= 320 m 1H
PNV $200 L= 150 m 1H
FRKEMEISE fEm=TH $100 L= 300 m 7R
KRAERET—TH $75 L= 100 m 108
NERKEBEHAEHNIE |EOE=TH BEAOESH 1 9A
RS KGEBHFEHIE |HARTH BEBFDERH 13X 9A
e o (E - o= ASHORE 1| 127
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(FHHX)
IE4 TERERR TEME BIFER
EKEMRELSE A HT $300 L=  330m 8H
ME/ ARHT $100 L= 330 m 8A
BARKAZTH $100 L= 200 m 9A
& HLFRET $100 L= 110 m 10A
HRERR=TH $100 L= 190 m 12H
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I=4 TE&ER TEME i i Al

EKEMRLE 1] E T /Y 2 ¢ 500 L= 580 m 7H

X A ATIZ ¢ 500 L= 600 m 78

THETEEm—TH ® 400 L= 600 m 18

THRTRERETH ¢ 400 L= 600 m 1H
BKEHRBIE 332 ER R T T T ¢ 150 L= 140 m 1A

EEHAKBET—EETE |¢75 L= 100 m 1A
E’i:‘;gﬁf*ﬁ HH— %iﬁ%o) - oF
g%gfﬁg%g%ﬁl$ HE KB = FE T B éggﬁw 1= 128
PEESAEEORESE \apakan—mmTe (Foam 1| 128
ZAMADERZEN  mrmremxesk |FpralC  1®| 128
e oum o 1E| oA
KEHBEFESHEISE [HR—M KEHBOEH 1z 10A
REHEFESHEIE |HR—M REHOESH 12 108
HAREFESHEIE  |HR—M HRBOES 12 10A
RECLLEEEREN  lsumeRNATRE |(BERWOEF 1 108
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